Splashlearn

Shopping Multiplication

Solve the following word problems.

John bought 4 shirts. Each shirt cost $12.50. How
much did he spend in total?

Sarah bought 5 bags of apples. Each bag cost
$3.20. How much did she spend in total?

Mike bought 7 bottles of water. Each bottle cost
$1.25. How much did he spend in total?

Emma bought 3 packs of pencils. Each pack cost
$2.50. How much did she spend in total?

David bought 6 notebooks. Each notebook cost
$4.30. How much did he spend in total?

Lisa bought 2 pairs of shoes. Each pair cost $35.50.
How much did she spend in total?

Mark bought 8 loaves of bread. Each loaf cost
$2.75. How much did he spend in total?

Jennifer bought 3 dresses. Each dress cost $45.20.
How much did she spend in total?

Robert bought 4 packs of batteries. Each pack cost
$3.75. How much did he spend in total?

10 Hannah bought 5 boxes of chocolates. Each box
‘bcos'r $4.80. How much did she spend in total?
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